(100) Xt== 40 & @ (320) MEAN2+Y Mg (321) AlE2Y2 2 @ (01) Aaeg2 (ool : M2l
=2
= PSE = = o -
=282 6,703,000 5,061,000 1,642,000
=2d0s+ 6,703,000 | 5,061,000 | 1.642.000
321
NE=2E3 210,000 210,000 0
01 SlAC QolfpEca 2 & x10H = 210,000
322
BelildaExs 6,493,000 | 4,851,000 | 1.642.000
01 A BHA DIDFIATHHZIAIAE AX jun } 08 = 437 .000
O gartoicie] Z2staHalAla X [2]1,594,000,0009 = 1,594,000
O YOG ZRst2H2lAE &3 [=2]791,000,0002 = 791,000
O BaXalAlE WAAY [2]224,000,0009 = 224,000
O Exs ¥4 Z2o5t2HMalAlE BHYZUMAL
[2]251,000,0008 = 251,000
02 U Y M2 2,904,200,0002 = 2,904,200
Etsl A x2 2,904,200 3,139,000 A234,800 O LR He= e e U
03 A BHA DIDFIATHHIIAIAE AX 2 = 87.400
O gatocte] 225t HelAla Ax 136,600,000 = 136,600
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